(20248HAE H127| A|ZHE)

==
4 o = = .
24 o shH 2 3 4 ot 3
2 2 4 ekl -
sta | 2 3 4 ot [ SR 2 3 4 -
09:00
- 71= | Living 27r1efg
09:50 C| x| C|Xtol | AH|O]A EKI? (%) :
£=29 I | cxter | £E9 Ael | LVing | quuy
. AmojA
10:00 agur ogut | 1z R A e
10:50 oM GRS 1EHE e
Work T = D122
ZHAtD| " gyex | Bxye Amoja D122
11:00 D122 D322 | D327 | [z 235
11:50 I Dty
284t
A,
12:00 sy
12:50 D302
L/‘ 4 Living
13:00 ABoO|A o <l Amlo|A Work Hol FEXNT] AN 0] A
" “Lixrol 7 Eixtel | OTK | g =t dumESl AHolA |, o Hxtel |gzbasy cixtol
13:50 nzg | 23 Aq:ﬁ i:ir iwoo| amEe f-é_'%} Y HagAel CxA el ROl
sy | T TN | ama [ ses | ERe | eixi S el 1wy | 2my
14:00 " az [V A, ! St 1R - 284t
Bo @B gy | TER jamea) | ®F ddag oo gt | 3gt
1450 Imzey cxal | ST /2% paz7 | 22¢ ey Living 4%/ Si4y [ thay | owe
Azl 21713 ARHe ana | B2y | oxfel W24 AmolA SEY| x4y | g | 0 D327 | D122 | HeHy
dolE | D327 | e | | s 7 MG | Saog | - D321 | Cixtel D302 | D304 b301B
15:00 D302 324 | D101 |- D302 - wu}
= 9 D301B - 2514t 1/ | 288t
15:50 [~ ol 125 (i Livlir:si nen
. | ABO|A Lt T
C|xto| B3 ojgye | D122
s = D301B i
16:00 D;ﬁﬁ\ I D327
- AgojA
16:50 ZIE o e 2502 RES} o
cixol | = EL Cixtol Hxt
= b4 0 = EA7IY AEC|QII
I Cixjol Cixrel AECQ] A8H
N - finy H}
= =]
17:00 35 D327 18} mo| 3gut 284 124t
17:50 Mg
" olu%.i. 2A21% D327 s44
B4 D301A BL D304 D301A
D322
18:00
18:50
19:00
19:50




